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Max. Marks:100

\Yi‘ns Jfrom each part.

(07 Marks)
(07 Marks)
(06 Marks)

50, will be treated as malpractice.

2 a. Obtain the transfer’ functxon model of an AC motors in control system. (07 Marks)
Find the transfs ction of a mechanical pystem shown in Fig.Q2(b) constructing free body
diagram.
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(07 Marks)
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(08 Marks)

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

Fig.Q3(b) (12 Marks)
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